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ECONOMICS

Paper : ECO-RC/HG-1016
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
w7 AR Aot St ey faan
(a) What is scarcity?
el & 2

(b) Mention the law of supply.
i AT Beard 341 1

(c) What is cross elasticity of demand?

IR OrfE Refeweer 2
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(2)

()

TSI TEATE (4R Foref ¥R ez 2

(/ What is a production function?

BesiA T 6 2

) become vari .
run. | able in the long
(Write True or False )

ﬁ@ﬁr@mmmﬂ',,

(h) Draw the total fixed cost curve

¥ R T o s |

i) Mention
one gas .
competition. sumption of perfect

olqwmqﬁqﬁmmwwl
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( Continued. )

|

(3)

ctly competitive

() “A firm under perfe
al profit in the

market earns supernorm

long run.”
( Write True or False)

2. Answer the following questions :
ot fia e e f

(@) [llustrate the slope of a production
possibility curve.

%&WW@@WWWWI

(b) What do you mean by price rationing?

Price rationing ‘Jfaﬁ 5] @7

() What is an jsocost line?

SR @ 7
{ Tumn Over )
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( 4)

d .
(d) Mention the conditions of equilibrium of

a firm.

9 T AT ©
M TSN TERRBl Seary

(e) What is a shut down point?

Beotm T R R 9

3. An
Swer any jfour from the followin
g

questions :
TS Al AT R e B e oy 5x4=20
(a) What are the d . .
Explain, eterminants of demand?
BIRAR fdeg R R 2 )

)

(c

@
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Explain the .
conc
surplus. ept of consumer’s

WWW@WW.

Explain the Diamond-water paradox

Jar-w Rearcst e 1 |

Distingui
o dgulsh the concepts of economi
1seconomies of scale e

TR fegfier wfeTh
N7 T 1 A YRMCPIB

( Continued )

(¢) What i

(5)

a

s budget constraint? Draw
2+3=5

budget line and explain its slope.
st 1 e 7 o 0D @Y 9 IR OR

o I 90

() Explain short-run equilibrium of a firm

under perfect competition.

szrﬁmﬁwwsf@wmaﬁmaw

ZITEN ST I
4. Answer the folloviring questions : 10x4=40
wors T 2RpTRa T
(a) Discuss the law of demand. When does
a demand curve shift upward or
downward? 7+3=10
s RRG weemo F901 GRRW QW GOE
R @eRte A Tt oS T ?
Or / 91

What

What is price elasticity of demand?
are its determinants? Discuss. 3+7=10

iR W Rfemerel 9 R e B
& 2 wCED F9 |
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(c)

(d)
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Or / &=my

Discus

s the .
ro )

curves. Properties of indifference

LR as s E R —

Critically dis

cu
proportions. Ss the law of variable
R e AR
ST 317 | IRIE

Or / 5=7r

Discuss the
cost minim0 .

conditi . 1ZINg equilibrs

\ 1t101:1 with the help of 8 equilibrium

1socost line, Isoquant and

TR G
e TN &R
ST 6 SCase) 397 | RES Iy

Discuss th
¢ long-run j

cu Industry
I've under perfect Competitsion Supply

qumm
SATCAT 397 | ﬂmmﬂﬂm

10

10

10

10

10

( Continued )
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.

7

Or / 91l

Explain how resources are adequately
allocated in production under perfect
competition. ~

ol afecafiiErs SRS SORRd XD
fRoee s =, I FA
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